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Round N-S E-W Boards Round N-S E-W Boards
m 1 1 8 1-3 = m 1 2 9 4-6 >
s 2 1 7 4-6 e s 2 2 8 7-9 o
g 3 1 14 7-9 e g 3 2 7 10-12 o
3 4 1 13 10-12 ¢ 5 4 2 14 13-15 o
8 5 1 1 1315 g 8 5 2 13 1618 2
g 6 1 11 16-18 E g 6 2 12 19-21 E
7 1 10 19-21 7 2 11 22-24
8 9 1 22-24 8 10 2 1-3
EW move to 2EW EW move to 3EW
NS Remain, note NS Remain, note
Arrow Switch Round 8 Arrow Switch Round 8
7 Table Table 7 Table Table
Hesitation Mitchell Hesitation Mitchell
8 Rounds of 3 Boards 8 Rounds of 3 Boards
Round = N-S E-W | Boards Round @ N-S E-W  Boards
z ; g 190 13-91'2 = . 1 4 11 13-15 >
- w = 2 4 10 16-18 e
3 3 3 8 13-15 ¢ 3 3 4 9 1921 o
s 4 3 7 16-18 ¢ 3 4 4 8 2224 ¢
g 5 3 14 1921 2 g 5 4 7 13 8
g 6 3 13 22-24 E g 6 4 14 4-6 =
7 3 12 1-3 7 4 13 79 “
8 11 3 4-6 8 12 4 10-12
EW move to 4dEW EW move to SEW

NS Remain, note
Arrow Switch Round 8

NS Remain, note
Arrow Switch Round 8
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Round N-S E-W Boards Round N-S E-W Boards
m 1 5 12 16-18 > m 1 6 13 19-21 2
3 2 5 11 19-21 w s 2 6 12 22-24 E
g 3 5 10 22-24 S § 3 6 11 1-3 ';
5 4 5 9 1-3 g 5 4 6 10 4-6 p
g 5 5 8 46 @£ g 5 6 9 7-9 é
g 6 5 7 7-9 3. g 6 6 8 10-12 =
7 5 14 10-12  * 7 6 7 13-15 &
8 13 5 13-15 8 14 6 16-18
EW move to 6EW EW move to 7TEW
NS Remain, note NS Remain, note
Arrow Switch Round 8 Arrow Switch Round 8
7 Table TD
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8 Rounds of 3 Boards

Boards: Playing 24 boards as 8 rounds of 3 boards.

m Round N-S E-W  Boards " Set out: Set 1totable 1, set 2 to table 2 etc
= 1 7 14 22-24 3 Relay between Table 3 and Table 4
g 2 14 13 1-3 %
s 3 13 12 4-6 © Pair Numbers:
° 4 12 11 7-9 8 NS pairs take table number
g 5 11 10 10-12 ¢ EW pairs add 7 to table number
= 6 10 9 1315 g
E' 7 9 8 16-18 = Pair Movement:
@ 8 8 7 19-21 “ Pairs 1 to 6 are stationary

EW move to 7NS

NS go to Table 1

Pairs 7 to 14 move round following circuit:
>EW1->EW2->.. ->EW6->EW7->NS7->EW1->

Arrow Switch:
On last round only at tables 1 to 6, which are
the tables with a stationary NS.







